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QUESTION 1

In a two node Veritas cluster, all Ethernet heartbeats failed simultaneously. I/O fencing and link- lowpri heartbeat are yet
to be configured. 

What is the resulting condition of this problem? 

A. Split-cluster 

B. Jeopardy 

C. Split-brain 

D. Panic 

Correct Answer: C 

 

QUESTION 2

An administrator has a three-node cluster. 

The cluster manages an application that depends on a database. The application and database can be online on the
same or a different node. If the database faults, the application must continue to be online. Which type of service group
dependency should be created to ensure this behavior? 

A. Online global soft, where the application is the parent 

B. Online global soft, where the database is the parent 

C. Online global firm, where the application is the parent 

D. Online global firm, where the database is the parent 

Correct Answer: A 

 

QUESTION 3

An administrator is responsible for a cluster split between two data centers in different locations. The data is mirrored
between the two sites. 

If the administrator would like to set up I/O fencing, how should the configuration be deployed to maximize resilience? 

A. One SCSI-3 coordinator disk at the primary site, one coordinator disk at the secondary site, and a Coordination Point
Server at a third site 

B. Two SCSI-3 coordinator disks at the primary site and one coordinator disk at the secondary site 

C. One SCSI-3 coordinator disk at the primary site and two coordinator disks at the secondary site 

D. One Coordination Point Server at the primary site, and one Coordination Point Server at the secondary site, and one
Coordination Point Server at a third site 
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Correct Answer: A 

 

QUESTION 4

There is a two-node Veritas cluster with two independent heartbeat connections, and fencing is disabled. What happens
when one of the heartbeat connections is lost? 

A. The cluster will disable service group failover on system fault. 

B. The cluster will be fully functional, but will be unsupported. 

C. The cluster will automatically configure a low-pri heartbeat over the public net. 

D. The cluster will take all service groups offline until both heartbeats are restored. 

Correct Answer: A 

 

QUESTION 5

Under normal conditions, Veritas Cluster Server agents are started and stopped automatically. Which command is
required to manually start an agent? 

A. hatype 

B. haagent 

C. hastart 

D. hares 

Correct Answer: B 
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